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AI(t + 1) = L (4, 6)

Az(t + 1) = L (1, 2, 5, 6)

yeA!, Az, x) = L (3, 7)

(a) State table

x

AI(t + 1) = Alx'

Az(t + 1) = Az Ee x

y = Azx

ROM truth table

(b) Logic diagram
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Present Next
state Input state Output

Al A2 x Al A2 Y
0 0 0 0 0 0
0 0 I 0 I 0
0 1 0 0 I 0
0 1 I 0 0 1
I 0 0 1 0 0
1 0 I 0 1 0
I I 0 I 1 0
I 1 I 0 0 I

Address Outputs
I 2 3 1 2 3

0 0 0 0 0 0
0 0 1 0 I 0
0 I 0 0 I 0
0 I 1 0 0 1
1 0 0 I 0 0
I 0 I 0 I 0
I I 0 1 1 0
1 1 1 0 0 1
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(a) Binary states 0, 1,2,3,4,5.

Inputs have no effect

(b) Binary states 0, 1,2,3,4,5.
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(d) Binarystates 3, 4, 5, 6, 7,8.(c) Binary states 10, II, 12, 13, 14, 15.
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